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— ~ 34 %] 1 big O notation % 7+ = 7] & i | 4L P P 47 2. & (time complexity ) -
(#4210 » » £ 30 » )
(4 2022 n In n+111 nt00%1
(2 2022 n32"+111 n23"
&) 2022 n1+2"

— ~ ¢f:% S #c (recursive function) A=doBicim 27 vhae B R 7K 5
P(0) = P(1) = P(2) = 1,P(n) = P(n—1)-2P(n—2)+P(n-3), YN>=3
EOF P 5BEEE L DLLLE NG Bis 2 (10 4)
OF - P(6)+P(@)niE  ® ? (10 4 )
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o= PR E o R B £ 2 &~ I (maximal profit) = 7 ? (20 &)
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1iT¥E |1 |2 |3 |4 |5 |6 |7
11 40 115 {60 |20 |45 |10 |55
B |2 |4 |3 |2 |1 |3 |1

g~ 2 A (text) X=“AGTCATTCGATTC” » # ;¢ (pattern) Y="ATTC"% =
Poeblo s * 4 - 3/5 B2 (exhaustive search) @ ek 3% o o j2
(forward) % t& w2 (backward) 2 Z @ ¥=x ? (10 » )

% ~ VMNEN e 4= et 5) (three-dimensional array) A[L:8,1:9,1: 4]% —
Bri Lt r 2BREGE A ¥ A[L21]90EH 2 b 5 234 0 A[2,3,1] 00k
FE L E M A[234]5EE R A A N
O * A LA (rowmajor) * A EF > PIm-neswie? (104 )
OF* 7/ 541 A (columnmajor) = Y& m Plm-n&A % i@ ? (10 4 )



